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le-14 +

le-15

1le—-09 : : :

le-11

623305 s: Mdev= 0.18782E-14 Tdev= 676 ps
311653 s: Mdev= 0.27865E-14 Tdev= 501 ps
155826 s: Mdev= 0.70463E-14 Tdev= 634 ps
77913 s: Mdev=0.17733E-13 Tdev= 798 ps
38957 s: Mdev= 0.20922E-13 Tdev= 471 ps
19478 s: Mdev= 0.28168E-13 Tdev= 317 ps
9739 s: Mdev= 0.39718E-13 Tdev= 223 ps
4870 s: Mdev= 0.55792E-13 Tdev= 157 ps
2435 s: Mdev= 0.79203E-13 Tdev= 111 ps
1217 s: Mdev= 0.11506E-12 Tdev= 81 ps
609 s: Mdev= 0.17666E-12 Tdev= 62 ps

304 s: Mdev= 0.31543E-12 'Il'dev: 55 psl*.
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